[ Efficiency vs vertpos |

< 0.1
20.09
4
20.08
(8]
§0.07
(&)
£0.06
0.05
0.04
0.03
0.02
0.0

.................................................

.................................................

................................................

1.0

| <

Ratio
L
||||!.I.l.l..¥.l.l.ll IIII!.IIL!IIII!IIII!IIIIIIIIIIIIIIIIIIIIIIIIIIIII

1072 10 1 10 0?
TP vertr (cr%)

—=#— DQM_CKF_XiMinusPU_base
Efficienq —— pom_cKF_xiMinusPU_retrainOldFiles125_v2_prelimWPM_epochl

&

=30 -20 -10 O 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.05
>
00.045
IS
7 0.04
$.035
2y
c0.03
@
8.025
(0]
0.02
0.015
0.01
0.005

1.0

Ratio

i
T
"
¥:
H
T
4
4
"
1
+

90 00 s Ui

-+

05510 -5 0 5 10 15 20

Sim. PV z (cm)



	Contents
	Page 1


